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Course Outline

Integration
Integration Techniques Exams

Application of Integration
9m

Sequences and Seris

Infinite series

Power Series Exam 3

Curves in R
Parametric Cues
Calculus with Polar Coordinates



Common Types of
Questions

Evaluate an integral
Determine if an infinite series

converge or diverge with justification
Find the I 0 C convergen of a

power seris

Find the power series repr of
a function
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Question 3 A.IO Probability

Given a probability density function
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Questiona 13.110 Find R.O.co
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Questions
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Question 7 Integration technique A.IO
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What about
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Questions BG Evaluate
Determine conv

Find sum

oÑ 2 Finding sun

Geometri secis

Telescopic secis
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Recall Telescopic Series
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Questions Power seris Rep

Find
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Build new from old
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QuestionI

I

Treat as a parameterization

x r cost 0 f t cos t
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QueshI CI

Given Cartesian Rectagat co ordinates

1,1 find its Polar co ordts

c 1

E

1 I fi
r x4y
11M 2

r If

yersinia
1 152since since

Ref ogle I

S R S only
E 3 F

5

52 e 7

R



Question 12 AIO Area of region
n
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Question 13 B
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Question 14 BIO Taylor Mclaurin

Given flop 2 f 07 1 f o 3
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Question 15 volume of revolution

R region bounded by

y ex
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Question 16
Parametric equations
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Question 17
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Question 18 A.IO
Improper Integrals
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Question 19 BIO Convergen

diverger of series
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Question 20 AST Estimate

Given flat cosec
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Question 21

Find slope of Tangent line to a

parametric curve
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Question 11
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Question 12
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Question 17 washer method

2 292 R
x 29
Find volume of solid
formed by revolving
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Selected

topics

Work Disk

Volumes of Revolution I Washe
shell

Polar Area

Derivation of arc length



Example r 4cos 30 vs r 4cos 20
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Areas Volume

Types of Question
Given curves that board a region find the are

enclosed

Given a region rotate it about x or y axis
and find volume of revolution

Disk method

Washer method

Shell method

b





Recall washer method
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Explaining The shell method

R y 1 2 3
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All variables
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Find volume
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Example Shell Method

let R be region bounded by curves
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be volume formed by rotating R
about y axis

Shell method
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Find volume nytit 0 70
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Example This example does not

rotate about 2 0 but x 3
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